
It.A, Prrt-II (Scmcster-III) Examinntion

(Litcrnture of Classical Languagc)

SANSKRIT LITERATURtr

Time : Thce Hours]

Note r- Writc answers io medium offered.

{fir :- eai ta5< aturqr fua.

{rFlr :- sf,I r6-fa qlu{q C lfiRqt t

1. TEnslate (any FIVE) :

3r14F. +rr (+MO qrq) ,

3E4rE +1ftt (4}{ 'ft ciq) :

(l) 3fi{dukd{]rq: sE: rfftq\-.rTdcqr( r

Tfl+dsrRTfhm( (ftr g-q,r, rgfidtr r

(2) lsnqRFrtirqqnq-
TdBitqfq n=qrR clr4qs I

q?-df{fuFa qtreT!' I
rrEfr Tr rF r* rdsqqpi: rr

(3) ildrFrds€4]fd it{r+m-
Rtfte{qrufq c"s,r ii-q r

qerrm ffiBfis
d sr+quq Effi e<krr

(4) tirrrr qrq€T FrFik(r{<rrtsE t Erc\ |

srsfi iirlllEsflfii r;} iiqqrf fifir r r

(5) T.qrqg-<{t nr f+'.nil ([iAr +sft I

qRFfuA Eqrxr qr.T fl{s fdqftru: 1 r

(6) .{dEnft-fl Eq'l{V{Uri ftBlfirdtrfi:
giqRqr(f{dsr6 Ea{fi Tqrqwsftvtil I

3flf,Fm ffi iMrffitqmr4,
qra+a l(4rflq{Bfi dlnftrff q}l\tn( r r

(7) 4t]rEl ,r {YFel lrrn .r FrgG.{fqfi'rd I

+}rrqfltlgszl{r re-mjtemw ,thi t t

(8) Trdfr EiTIT{rq)qR{smg qRsi c-sIt

ft dtffi et-it sFrqh-g qrgqrTi E | |
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2. Sketrrh the charader oI I c,'ld+,r OR ni'.Tfti

{rdBt} fri"I sfi'+l}r; mi rqrxnfurr ft-n

qrtfr+r 6I qqql 3rfrrfu"7 61 ias6i;17c1 6]ffi I

oR.fA r,/3Tq{r

Write the summary ol tii:h part of tl,:lltml[]i[i7a'

trdf&flffi{q.' lTaTr.r vl.lcul 3rq,Fn {rrt kdr

. fi + ,riqi 3lF {,r HRIsr Frd I

J. Refercnce ro comext (anl'I'OUR )

dtrnqr& qr< srflii rlrr<,f {qtrl=tr{'1 6Tr :

mied ss&+rq frf:rl i+']{ ,ft qn)

(l) $<: {fteqarf,r(-rq+ If rrq.qq,l{qla: r

(2) TE(t-6qftrFrsRnft: Xn;{ tT.c.fil I

(3) {65fu{: tro*a i-i +tqr[t:i ',-q

(4) 1 E rcFrfl 'jrc.'rr l]l-fiIi4il rrn=J'T I

(5) +ldRkqc: (erl: +iir1r.r1.1sui

(6) ;rsii-RE ior;ql'j'l tffi,r r

4. Explain with examplc 1an1' IIIREE) :

$r<ralr sr&orq +, { +'rurtll fi{ )

ftrniiftqd it t fr'.il fi'{ sir riid 6 r,,r twll+rq dtF.rt ,

(1) qas{srqr4

(2) 3rd: sa{ {ld:

(r) q.ff qT6-rrl

(4) 3nry1:

(5) J{ul rr1.

5. Fill in the blanks (any 16) :

rrrdffifr +lqtqr8 frzr ft+r,w v rll ilc cqiq ftr6l

f'{FrftR{d i U 1t , r.rm fa{irq=r ,lt id(i (+}{ 'ft + d (16))

(l) tll{i4: r iljeru'' {'ll+ii sndr( t

(l) ,ir.i (r{s (2) fi-+qrl{.rq

(3) {rcrfitTl{q (4) der]vralrH

(2) irRtr 

- 

.i']r{ -: 3flini( |

(l) lir{s (2) Rs,i.

(3) ildrt{s (4) <.d({

ll
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(3) ql1fr: 

- 

q-6rrr'qq 6([ 3IR( I

(l) agsaF( (2)

(l) Aqdtq-dtu{( (4)

(4) ft'ildr$q{ gfr qar+rqs {TtrF: 

- 

ek t

(l) gtuB{: Q)

(3) 1iq: (4)

(5) s{i: 
-- 

rda (q: iiI{R tq I

(l) frqrtfq (2)

(3) 3'rc-ff (4)

(6) 3r{{: ,{g!-drarrq 

- 

3lrutF { 3rft-( I

(1) frET'r (2)

(3) s{srq (4)

(7) cril __ rrl+.q dlql
(1) EqR{llr{1 (2)

(3) {6f,rr{d{ (,4)

(8) Rr{qrdsul ifr {6r+Ta 

- 

<rrl tFo r

(1) l0 (2)

(3) 20 (4)

(9) qri{ _ rftru a"fn 5 I1 r

(r) +-dr( (2)

(3) t-{n6 (4)

(I0)En(.rr+R ddf _ 3rk I

(1) qsl?: Q)

(3) qcls: (4)

(11) trd6t ftqrfr 

- 

TIFcI sfucrFi qF( I

(l) srf,{iqI Q)

o) 'Tft(+r"i (4)

(I2) rr+{t: Fg: irt 

- 

ar$-q r

(t) It{qsrEr$ (2)

(3) {1-d6r6: (4)

ETricrdsu{

BrTnr{{q{

a{a,

{d
i-T+td

M:
ia--di q

fugvrr<a1

l5
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a<--fld

FS

qrth:

'rfdft,

rRr6Ec{

dYsr4l

q{rtrg,

I1.r,]ff
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